MATH 810: PROJECT 1
DUE: SEPT. 16, 2014

(1) Exercise 2.7, page 11.
(2) Exercise 3.8, page 16:

Hint: Follow the steps outlined below.

(a) Show that c(AUN)={AUN : A€ A N € N'}. This is nontrivial!

(b) Define fi : B — [0, o],

AAUN) = p(4).
(c) Prove that fi is a measure (i.e. o additivity).
(d) Prove that all null sets for fi are in o(AUN), ie. (X,0(AUN), ) is a
complete measure space.

(3) Exercise 4.3/page 34
(4) Exercise 4.10/page 35

Hint: For every 6 > 0, there is a family of intervals {/,};, so that A C UI;

and
m(A)+6 > m(I))

On the other hand,



